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EDUCATION

Paper : EDU-HC–4036

( Emerging Issues in Education )

( Honours Course )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

GROUP—A

[¤®¡àK—A¡

( Marks : 40 )

( ³èº¸àS¡ : 40 )

1. Answer the following questions : 1×6=6

[>≥ó[∫[Jt° ö¯≈óÏ§‡ππ l°¸v°π [É⁄‡ :

(a) Give an example of social inequality.

Œ‡≥‡[\A° Ì§»≥∏t°‡π &i°‡ l°¸É‡“πo [É⁄‡°˙
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(b) Write one positive impact of

liberalization.

l°¸É‡π„A°πoπ &i°‡ ã>‡uA° ö¯Æ°‡Ø [∫J‡°˙

(c) Write the full form of PPP.

PPPπ Œ¥öËo¢ πÍ°öÏi°‡ [∫J‡°˙

(d) Mention any one cause of youth unrest.

ôÂØ l°¸Z·ı}J∫t°‡π [ô ÎA°‡Ï>‡ &i°‡ A°‡πo l°¸Ï¿J A°π‡°˙

(e) Which day is observed as World

Population Day in every year?

ö¯Ït°∏A° §·Ïπ ÎA°‡>Ïi°‡ [É> [§≈´ \>Œ}J∏‡ [ÉØŒ [“W°‡Ïö 
ö‡∫> A°π‡ “⁄?

(f) What is the full form of NIOS?

NIOSπ Œ¥öËo¢ πÍ°öÏi°‡ [∫J‡°˙

2. Answer briefly the following questions : 2×5=10

[>≥ó[∫[Jt° ö¯≈óŒ≥Ë“π W°≥ÂÓA° l°¸v°π A°π‡ :

(a) Define social inequality.

Œ‡≥‡[\A° Ì§»≥∏t°‡π Œ}`°‡ [É⁄‡°˙

(b) What are the two main objectives of

liberalization?

l°¸É‡π„A°πoπ ÉÂi°‡ ≥ÂJ∏ l°¸ÏÑ≈∏ [A° [A°?
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(c) Write any two importances of

privatization.

§∏[v°̊°Kt°A°πoπ [ô ÎA°‡Ï>‡ ÉÂi°‡ P°πÁ°Œ [∫J‡°˙

(d) Define alternative education.

[§A°ø [≈¤°‡π Œ}`°‡ [É⁄‡°˙

(e) What is MOOC?

MOOC [A°?

3. Answer any four from the following
questions : 6×4=24

[>≥ó[∫[Jt° ö¯≈óŒ≥Ë“π öπ‡ [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π A°π‡ :

(a) Explain the causes of inequality in

education.

[≈¤°‡t° Ì§»≥∏π A°‡πoŒ≥Ë“ §∏‡J∏‡ A°π‡°˙

(b) Discuss the major benefits of

liberalization in education.

[≈¤°‡t° l°¸É‡π„A°πoπ ≥ÂJ∏ ŒÂ[§ã‡Œ≥Ë“ "‡Ï∫‡W°>‡ A°π‡°˙

(c) Explain the main causes of

environmental degradation.

ö[πÏØ≈„⁄ "Ø>⁄>π ö¯ã‡> A°‡πoŒ≥Ë“ §∏‡J∏‡ A°π‡°˙

(d) Write briefly about privatization of

education.

[≈¤°‡π §∏[v°˚°Kt°A°πoπ [§»Ï⁄ W°≥ÂÓA° [∫J‡°˙
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(e) Discuss the remedies of examination

anxiety.

öπ„¤°‡ l°¸;A°q°‡ ö¯[t°A°‡π Œ¥¨ÏfiÍ° "‡Ï∫‡W°>‡ A°π‡°˙

(f) Write briefly about KKHSOU.

KKHSOU Œ¥öÏA¢° W°≥ÂÓA° [∫J‡°˙

GROUP—B

[¤®¡àK—J

( Marks : 40 )

( ³èº¸àS¡ : 40 )

4. Answer any four from the following
questions : 10×4=40

[>≥ó[∫[Jt° ö¯≈óŒ≥Ë“π öπ‡ [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π A°π‡ :

(a) Discuss about the rural-urban disparity 

in education. 10

[≈¤°‡t° K‡Ø∫„⁄‡->Kπ„⁄‡ Ì§»≥∏t°‡π [§»Ï⁄ "‡Ï∫‡W°>‡
A°π‡°˙

(b) Discuss the major causes of

globalization. 10

ÎK‡∫A°„A°πoπ ö¯ã‡> A°‡πoŒ≥Ë“ "‡Ï∫‡W°>‡ A°π‡°˙
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(c) What do you understand by

‘privatization’ of higher education? Are

you in favour of privatization of higher

education? Justify your answer with

reference to North-Eastern region of

India. 3+3+4=10

l°¸ZW°[≈¤°‡π ë§∏[v°˚°Kt°A°πoí §Â[∫Ï∫ [A° §Â\‡? l°¸ZW°-
[≈¤°‡π §∏[v°˚°Kt°A°πoA° tÂ°[≥ Œ≥=¢> A°π‡Ï>? Æ°‡πt°§»¢π 
l°¸v°π-öËØ [É≈π ö¯Œ}KÏπ Ît°‡≥‡π l°¸v°ππ ôÂ[v°˚°ôÂv°˚°t°‡
ö¯[t°öƒ A°π‡°˙

(d) Discuss the major causes of educated

unemployment. 10

[≈[¤°t° [>§>ÂØ‡π ö¯ã‡> A°‡πoŒ≥Ë“ "‡Ï∫‡W°>‡ A°π‡°˙

(e) Discuss the impacts of population

explosion on Indian education. 10

Æ°‡πt°§»¢π [≈¤°‡ §∏Ø—Ç‡t° \>Œ}J∏‡ [§Ï—£°‡πoπ
ö¯Æ°‡ØŒ≥Ë“ "‡Ï∫‡W°>‡ A°π‡°˙

(f) What is campus disturbance? Discuss

the causes of campus disturbance.

2+8=10

ÎA°¥ö‡· [§∞‡i° [A°? ÎA°¥ö‡· [§∞‡i°π A°‡πoŒ≥Ë“
"‡Ï∫‡W°>‡ A°π‡°˙
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